Potencias de 10 (F)

82+ 100

2210

72 <1000

49 =100

48 = 1000

21000

551000

9110

75100

8-+-10

Calcule los siguientes cocientes.

7710

50100

34 =100

72 <1000

27100

261000

71 <1000

41 +1000

17+1000

33100
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Potencias de 10 (F) Respuestas

82100
0.82
2210
2.2
72 1000
0.072
49 =100
0.49
48 + 1000
0.048
21000
0.002
55+ 1000
0.055
9110
9.1
75100
0.75
8-+10
0.8

Calcule los siguientes cocientes.

77+10
7.7
50100
0.5
34 100
0.34
72 = 1000
0.072
27+100
0.27
26 1000
0.026
711000
0.071
411000
0.041
17+ 1000
0.017
33 +100
0.33
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